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PSYCHOLOGY
Paper — 1
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. A procedure that establishes a sequence of responses which lead to a reward following the
final response and then working backwards is called

(1) Shaping (2) Stimulus control

(3) Chaining (4) Stimulus generalization

2. In a study on scaling of attitude items, eleven statements were included. What would be
the number of pairs of attitude statements ?

(H 21 (2) 55
(3) 110 4) 121

3.  Who first attempted to describe personality traits in terms of Lexican descriptors ?
(1) Ross Stagner (2) Allport and Odbert
(3) R.B. Cattell (4) Coasta and McCrae

4. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Classical conditioning is quick when UCS is presented immediately after
CS rather than before.

Reason(R) : According to cognitive perspective, classical conditioning occurs
because CS provides expectancy about the coming of UCS.

Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

5. Which of the following have been explained by Freud in his psycho-analytic theory of
motivation ?

a.  Homeostasis b.  Drives

c.  Hedonism d.  Instincts
Codes::

(1) a,bandd only. (2) a,candd only.
(3) b, candd only. (4) a,bandconly.
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(1) 21 (2) 55
(3) 110 4) 121

3.  gawyy forae SAfocd Mo i WIS uish & G=<e] H Sford e ol Mo 4o foa 2
(1) IFETR (2) eI TS 3fieae
(3) SR HeA (4) LTS Hh
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T A TR {62 ST |

A% (R) : GAMTCHS S0 o STHR FATNGHR! 3TaE FqfeTd Sfed eidr & it ot vy, g 9 v
% 3T TN Gl TR Jeam e & |

%
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(3) (A) T g, e (R) T € |

(4) (A)7Terd g, SfT (R) W& € |

5. 3IRTRT % TAOReoT [ag | hias gRT FEaiad § 9 e T o 7 & 9
a. HAREG b. IR
c. gEar” d. gemgraat
ETE
(1) wacta, b 3 d (2) Hacta, c AR d
(3) HaA b, c 3 d (4) FaeTa, b 3T c
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6. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List —1 List — II
(Concept) (Explanation)
a. Trait 1. Specific emotional and behavioural qualities of
personality that are thought to be biologically based
b. Type ii. A collection of highly interconnected traits or
dispositions which determine personality integration ' &
c. System iii.  Clustering of many stable and enduring dispositions 01;"'I .

qualities. -
d. Temperament iv. Consistent pattern of emotional and behavioura / '

reactions a person displays across variety of sityations. r
Codes:
a b c d
(1 i i i v
2) i 1 i v

3) i 1 iv i
4) iv i i i

7.  Which of the following is correctly arranged ?
(1) Encoding — retrieval — storage
(2) Encoding — storage — retrieval
(3) Storage — encoding — retrieval
(4) Retrieval — encoding — storage

8.  Which one of the following does not contribute to memory ?
(1) Interesting / disinteresting learning material
(2) Goal behind learning
(3) Gender
(4) Some rest after learning

9. In terms of efficiency in scanning information, which one of the following strategies is
considered to be the best ?

(1) Conservative focusing (2) Focus gambling
(3) Simultaneous scanning (4) Successive scanning

10. Inretrograde amnesia, which of the following kind of problem is seen :
(1) Problems with recalling previously learned material
(2) Problems with face recognition.
(3) Difficulty finding routes.
(4) Poor encoding of verbal material.
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11. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :
Assertion (A) : Extraverted individuals are sociable, impulsive and like excitement.
Reason(R) : Brains of extraverts react more slowly and weakly to stimuli which
cause them to seek excitement by approaching the environment.
Codes:
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

12. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List — | List — Il {
(Concepts) (Explanation) F
a. Personality Structure 1. Psychologica{ reacti{ms 3\1d motives
that change d‘};namically over relatively

briefiperiods. |
b. Personality Process ii. Stable and enduring qualities that
define the individual and distinguish
individual§ frgm one another.

c. Personality Development iii. People etimes change and
sometimes resist cpénge or are unable
. to change arc'(?rdingly
d. Psychopathology and Change iV Everybody icomes up to be an unique
- individual by adulthood
Codes:
a b c d
(1 i i iv
2) i i ivood
3) i i v il
(4) iii i v

13. Match List — I with List — II and indicate your answer using the codes given below :

List—1 List — Il
/ (C?ﬂc pts) (Explanation)
" a. Artificial concepts i.  Representation of objects
b. Natural concepts ii.  Clearest objects in the physical
. world
o Prototypes;i iii. Defined by set of rules
Visual images iv.  Not based on precise properties

Codes:

a b c
(1) i i iv
2) i v il
3) i - iv
(4) v il 1 i
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14. According to Master and Johnson following is the correct sequence of human sexual
response :

(1) Excitement — Orgasm — Plateau — Resolution
(2) Excitement — Plateau — Orgasm — Resolution
(3) Excitement — Arousal — Orgasm — Resolution
(4) Arousal - Excitement — Orgasm — Resolution

15. In graphical representations showing stress levels on X axis and performance on Y axis,
best performance can be expected at

(1) Lower end of X axis (2) Middle portion of X axis
(3) Higher end of X axis (4) None of the above

16. Lesions of the ventromedial nuclei in the hypothalamus produce
(1) Anorexia (2) Obesity
(3) Low level of Leptin (4) Hypoinsulinemia

17. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List — | | )Lt — 1
(Attitude Scaling Technique) (Compu atlonalfeature)
a. Paired comparison 4., Computes rr'édi;n category as scale
h values |
b. Scalogram Vi Computes Z-scores as estimates of
5 A scale values
c. Equal appearing intervals iii.  Computes coefficient of
- [ reproducibility
d. Summated ratinFs - iv. Computes routine measures of item
: ( analysis like item-remainder
| correlation to select items
Codes:
a b c d
(1) i il i v

@) i iv i i
(G) i i i v
@) i i v i

18. When the action potential reaches the end of the axon terminals, it causes the release of
(1) An electric spark that sets off the next neuron
(2) Positively charged ions that excite the next cell
(3) Negatively charged ions that inhibit the next cell.
(4) Neurotransmitters that excite or inhibit the next cell.
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(1) X g & Faet sr ™ (2) X g & T 9 W
(3) X YUl % IR BR W (4) SRIFT T F BT TRl

16. TUYHAS W SRREEAR] FacA! & foetd | ganer ¢

(1) o7 (2) T
(3) difeT & %9 'R (4) BTl
17. g — 1 3R gt — 11 & Gferd wifse 3R T 3 70 el § @ T8t W g9H0
el — | =t -
(arfwgfamTas d-i®) . 5 T )
a. gﬁHdgwl(wé%wlﬁMﬂgi \W&@ﬁ ®H T U Sl HOET
(‘ AT |
b, i VA o e o e YR
O FAT T |

c. I AN TEeT iii. USHARICAT % OIS FITOHT AT € |
d. wﬁé—ﬁ%ﬂf - iv. TN @ W& & TEIY TEHew J9 WY
_ { foagerooT & Sfeh AT i GO AT &
%,
a b c d
A i @i i v
@ i v i i
@) i i i iv
4) i i iv 1

18. el fopam Witz ferdl eTeteiq STadeh WX g €, al 3ad et &
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19. According to Freud following are the characteristics of instinct :
a. A source in some bodily deficit.
b.  An aim that focuses on gratification of need.
c.  Animpetus that propels the person to act.
d.  An object through which instinct achieves its aim.
Codes :
(1) aandbonly
(2) a,bandd only
(3) b,candd only
(4) a,b,candd

20. Guilford initially started his work extending Thurston’s theory of primary abilities but
later on diverged on the grounds :
a.  Obtained factors were not primary (independent) rather related to each other
b.  Thurston’s factor analysis was mainly oriented to get simple structure
c. It was difficult to name the abilities (factors)
d.  Guilford also found second-order and higher-order factors.
Codes :
(1) aandb only.
(2) bandc only.
(3) a,bandconly.
(4) a,b,candd

21. AIDS attack a number of very different population; young gay men, intravenous drug
users, haemophiliacs, Haitians, infants and recipients of blood transfusion, but commonly
among them is the decrease in T lymphocytes, so it is an example of
(1) Inductive reasoning (2) Deductive reasoning
(3) Analogical reasoning (4) Syllogism

22. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List—1 = 4 List — 1l
a. Reintegrative nﬁmoril i.  Familiarity that we have met it before
b. Recall [ ii.  There is some residue from the past to learn
. easily
c.. Recognition iii.  Activity of some performance learned in the
; Pra” past
,f d. Relearning’ \ iv.  To check details of the recovery of events in
the personal past

Codes:
a b c d
() iv i i i
2) iv TRV R 1
3) i i iv il
4 i v i i
23. A 40 years old person is having the mental age of 20 years. What would be his 1Q ?
(1) 100 (2) 50
(3) 80 4) 125
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(1) Hacta3iThb (2) Hacta, bR d
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FTThe 3 URY § 3191 1 G¥e i M qrgareti & g &1 o) s & fow foar o
T 915 § 3 SMURT W 3TH 371 & T |

a. I 92 WA (W) &I & oo Ueh T | Haiftd o |

b. e T USH LI T TR GIEAT T T b1 3 S T |

c. IR (I<N) P ATH FAMT i o |

d. TETRIE S ff FAE-HT T e ¥ 9 geloh-hY Heeh W & T

A

(1) %I a3RDb (2) HAAb AR ¢

(3) Hacta, b3 c (4) a,b,c3MTdad

Uy fafT= WHR & Al THEl il ehfid AT & 19 Jal THeINTS Jou, SRR 3o o arel
Ao, 31Tk Teaara A, 2ieaw, FTe] aen o SMeH o aTet At | =g 38 |t & e U
T FAM Bl € Toh T8 S-TThrEe 9 & ST © | 3T I8 Fefefad o 9 fhae Smeor & 2
(1) W ThT (2) i T
(3) TET qH (4) Tkl qeHT

AT — [ 31X G — [1 T GATeId HiTT SR A 53 71T %t § F el SR g0 :
= - | = - I
a. IO WG i, 29 UK I qRfaedr o g9 veet et g € |
b. TAERU % ii. omEH ¥ WEe % oIy Yot & $5 @9
. T |
. D?ﬂ'ﬁﬁﬂd__ iii. YA § G T $ (e it idtarat
d. gt iv. AT eIt § g % Uiy & AR

a b c d
(1) v 1 1 11
2) iv i i il
3) 1 il v i
@ i iv i il

TS AT ST AT ! AN 3F 20 99 & | SHH g oTeelich -1 F 2

(1) 100 2) 50
(3) 80 4) 125
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24. Muller-Lyer illusion is likely to occur more in cultures characterised by
(1) People living in rectangular and square buildings
(2) People living in buildings which are round and have few corners
(3) People living in open spaces
(4) People living in caves

25. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : According to Classical Test Theory (CTT), reliability can be
conceptualized as the ratio of true score variance to the observed score
variance.

Reason(R) : According to the CTT, the random error of measurement is assumed to
be uncorrelated with the true score.

Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

26. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List - | ListCi 4
(System) 3, (Comqoriehts)

a. Visual system 1. mmer, pinna, oval window
b. Auditory system i, ornea, vitreous humour, aqueous humour
c. Neural system 2 ﬁiﬂ- GABA, Serotonin, Dopamine
d. Messenger System “iv.  Glial cells, myelin, Neurillemma
Codes:

a b c d
(1 i VIS VY B \Y
2) i ioivod
3) i il i v
4) ii i iv il

27. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :
Assertion (A) : Organisms learn to perform responses that produce positive reinforcers.
Reason(R) : Positive reinforcement strengthens responses that permit escape from or
avoidance of stimulus.
Codes:
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

Paper-Il 12 J-04-16
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(3) (A) W T, Al (R) T ¢ |

(4) (A)7Terd g, S (R) W& € |

e — 1 i e 11 P e H i A e gt & @ e s g

it won )
(Tt (3rer) V.
a. ghe i W, &lﬁﬁv‘, STETHR R r"'- 4
b. safTE g ii. ST B 5o, STolsed |
c. TEREE T i, m | A, S
d. Uusax iv. f HITLTHTT HTSeA, TEThDT

%

(=N

a b c d
(H i i i iv
2) i i oivood
(3) i il 1 iv
4 i i iv il

Tttt =1 et — afTshae (A) 3R @ (R) 1 afeq 3R A U 10 el &1 39 e 5u

WWW:

A (A) : STie TE Uidfshar a1 TRg ST &, ST GehRTcHe GG ehioT il &l |

A% (R) : GHRICHS GG 0T THr WAlshansti bl At STt & ST SEIUeh! © e 37T Sig- i
AT AT |

HT

(1) (A) 3R (R) 3HT W&l & 3K (R), (A) i Tl saren € |

(2) (A) 3R (R) I Tel &, = (R), (A) Ft Tel = 78 ¢ |

(3) (A) W T, Al (R) T ¢ |

(4) (A)7Terd g, SR (R) W& € |
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28. One prominent class of theorists of deductive reasoning believe that deduction depends on
of inference akin to those of

(1) informal rules; logical calculus
(2) formal rules; analytical calculus
(3) procedural rules; logical calculus

(4) formal rules; logical calculus

29. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Ideas lose their original identity in fusion into more complex ideas.
Reason(R) : Mind sometimes is analogous to chemical laws.

Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

30. What type of cell is responsible for the reproduction of other cells of the body ?

a. Blood cells b. Stem cells
c.  Neurons d. Basalcells
Codes :

(1) aonly (2) bonly

(3) c&donly (4) d&aonly

31. Ifthe bones of the middle ear begins to deteriorate, the person will suffer difficulty in

a. Loudness b.  Timbre

C. Conduction d. Stimulation
Codes :

(1) aonly (2) bandc

(3) conly (4) candd

32. What is the correct sequence of products in Guilford’s Struct of Intellect Model (SOI) ?
(1)  Unit — Class — System — Relations — Implication — Transformation
(2) Class - Unit —» Systems — Relation — Transformation — Implication
(3) Unit — Class — Relation — System — Transformation — Implication
(4) Unit — Relation — Class — System — Transformation — Implication

33. The light passes through the eye in which of the following sequence ?

(1) Cornea, Pupil, Lens, Retina (2) Cornea, Lens, Pupil, Retina
(3) Lens, Cornea, Pupil, Retina (4) Pupil, Cornea, Lens, Retina
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28. T @ehur o fagdl & G 1 Ush T o e favemd s & o e &
T % FEAET T T et € |
(1) 3R Fam, THYeT e (2) iuERe Ham, v Her
(3) Aty o, TehYuT He (4) STEIRE Haw, THYUT Herd
29. FrAfefaa &t et — atfire (A) 3 &% (R) &1 dfgw 3 e o 7o 2 o suE i g
WWW:
AR (A) : 21 Sifeet foari o |1 fete W faem 1o gof veae @ o € |
qF (R) : OfaTsh Ffi-sdt Tt fomi & 3% 1 T € |
T
(1) (A) 3R (R) I el & 31X (R), (A) H T&t AR E |
(2) (A) 3R (R) I Tel &, = (R), (A) Ft Tel = 78 ¢ |
(3) (A) T g, e (R) T € |
4) (A) 7o g, @A (R) T8 € |
30. IR H THT UHR HI HIRHNT 37T IR & S & [T ST €
a. Yo HIVTRIT b. ¥H RN
c. Tofoomt d.  3MER HifeTHT
&<
(1) FocTa (2) HaAb
(3) At ¢ 3 d (4) Had AR a
31. I T 1 H AET foTer I & St § AR Sl Feteirad wentEr g ¢
a. U b. R fauar (A1)
c. T d. EA
ETE
(1) %A a (2) baRc
(3) HEAc (4) card
32. TToTwE & Wae 3 gZoide Higel (U9 31 37E) | a&q3i i 9el A T & ?
(1) THE — T —> YUTelt — Fayg —> et — waiaor
(2) = — THE —> YTl — FaY —> TR0 — e
(3) THE — T —> TIY —> YA —> TR —> {fgame
(4) THE — GIY — I —> YO —> TiRor —> e
33. 3@ ¥ vt fEfcfad § § iF @ 9 F ToRAT ¢ 2
(1)  HitTar, qoett, o=, e (2)  Hit4a, o=, qefet, e
(3) o=, i, gae, e (4) e, itaar, o=, e
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34.

35. Match List — I with List — II and select the correct answer by choosing from the codes
given below :
List — | List— Il L '
(Concept) (Psychologists) 1 / '
a. Mental Age i.  Stern f r
b. Intelligence Quotient ii. Binet - |
c. Mental Tests iii. Spearman - i J =
d. Tetrad Equation iv. J.M. Cattell J d*”
Codes:
a b c d
(1 i i v
2) i E A 111
3) i il i v
4 iv i i i
36. The difference in images in the two eyes is greater for objects that are close and smaller
for distant objects is an example of
(1) Binocular Disparity (2) Convergence
(3) Accommodation (4) Relative Size
37. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :
Assertion (A) : Information is transferred from STM to LTM.
Reason(R) Information maintained in the rehearsal buffer is prevented from
decaying in STM.
Codes:
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
38. Arrange the parts of C.N.S. in ascending order :
L Thalamus II.  Medulla oblongata
III.  Spinal cord IV. Frontal lobe

Which one of the following statement is true in the context of item analysis ?

(1) Item-total correlation = Item-remainder correlation

(2) Item-total correlation is greater than or equal to item-remainder correlation.
(3) Item-total correlation is smaller than or equal to item-remainder correlation.
(4) Item-total correlation cannot be negative.

Codes :

() LILILIV
(3) IV,IL LI

) ILLILIV
4) ILILLIV
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34. o faveiunr o9&y § fefeiiad § | i 91 S99 el € 2
(1) WA Geaay = I-3T Geday
(2) TSN GeUaY; HE-IT Teday 9 i & 3TeT 39% I ¢ |
(3) TR-ANT WedeY, AS-IY TEHaYy ¥ HY § 37T 39k 99 € |
(4) TN HeGeY THNICHSE Tel & Fehall |

35. et — 1 3K qE — 11 g T s S e g w9

=t - | = - I

(3rerERom) CRICEURED)
a. THM® g i = r
b. JhecTeTH ii. foe =
c. HHNEE TET iii. A aflk]
d. T FHEH iv. Sum. %HeeT g1
&

a b c d
(Hh i i i v
2 i i iv i

(3) @i i i v
@) iv i i i

36. 3T 3@l & for § SIS fof AR o A % T 9€r SR §X 3 A i [T BleT B ¢

freferfiaa 9 9 foraen SeReoT e ?
(1) fyenis dus (2) TR
(3) wEHSTE (4) TUET HR

37. Frafofaa ot st — e (A) 3T @& (R) i 96T 3iX A= T T 2 1 3 e g

mwﬁf@m:

AHY (A) : GO TF & TH 9 UA 3 UF T 3R bt St € |

% (R) : Iee AeAedl | @ 7€ GoT 6l 09 3 UF § T g4 9 6me7 S § |
FHT

(1) (A) 3R (R)3HT el 3 (R), (A) F T = & |

(2) (A) &R (R) T Wl €, T (R), (A) Tt Tl =1 i & |

(3) (A) W& g, A (R) 7ot € |

4) (A) 7o €, @i (R) T& € |

38. HIUA.UH. & 9N ! HART HY

L o I gl St
I B9 V. 3 arg

ETE

(1) LILIIL IV ) I,LILIV
(3) IV,IL 11 4) ILILLIV
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39. Shaping in instrumental conditioning means

(1) Teaching a complex sequence of behaviours by first shaping the final response in
the sequence and then working backwards

(2) A continuous reinforcement schedule is used for establishing new behaviours.
(3) [Itinvolves reinforcing successive approximations of the final desired behaviour.
(4) Consistent occurrence of a behaviour in the presence of discriminative stimulus.

40. According to Trichromatic theory of colour vision, which of the following are the three
types of cones ?
(1) Red, Yellow and Blue (2) Red, Blue and Green
(3) Yellow, Blue and Green (4) Yellow, Red and Blue

41. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :
Assertion (A) : gf and gc correlate positively across the age levels with moderate
magnitude.

Reason(R) : gf being neural energy is invested in the cultivation of gc and both are
having different growth patterns.

Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

42. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : The creators of three dimensional movies simulate convergence by
photographing a scene with two cameras placed a few inches apart.

Reason(R) : Convergence is a binocular cue for perceiving depth by the extent to
which the eyes converge inwards when looking at an object.

Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

43. In heightened emotional states, the following functions are NOT triggered by sympathetic
Nervous System activity :

a.  perspiration b.  heightened pulse rate
c.  digestion d.  pupillary dilation
Codes :
(1) calone (2) bothcandd
(3) a,bandc (4) a,candd
Paper-Il 18 J-04-16

www.examrace.com



39. ‘AT ST I & 3T¥E &
(1) °9 %EeT ¥ Ueet 3ifam ufdatshar FeiRd e 915 § 99 % $ ¥ IR & Sieed s 6
TTeqoT BRT ©
(2) T FTER Hl TS A & 1T Teh T GEEIHI0T ST T SUANT T ST & |
(3) TEH 3ifdqy difed HeeR H g P aTC hAeE [T IHe eidl ¢ |
(4) foicert SEUe i Sufefa o sqeRR i ar € |

40. TeuTeAs (Trichromatic) fET & SFER H=TAEd § @ S d T 376 & oF ThR € ?
(1) e, drer 3T e (2) A, el R &
(3) e, e Y & (4) diet, AT 31T Hren

41, FAfAREd gt weE — A (A) 3R @6 (R) H UigT 1R e ST 7 Fel &1 STaiT #<d ge
3T ST ST
Afepem (A) ST U SR STl e o & @ Wl o7 T % 91 GHReHs 9 °
HegGey A1 € |
A% (R) : TR FIERISRT &H % HRUT ST TF 6T STANT ST ST | B ST & 31X 3HT o
farepr e S-S € |
ES )
(1) (A) 3R (R) IH T € 3R (R), (A) Ff Tl A=A & |
(2) (A) 3R (R) 31 Tl &, W (R), (A) I Hel =& Tl & |
(3) (A) Tl &, o (R) Tord & |
(4) (A) T g, oifeh T (R) Tl ¢ |

42. TEfAREd 31 HET — S (A) 3R 9% (R) i UfeT 3R =9 f§T T $i 1 ST Hd g4
3O I SI1T
afirpem (A) : Bifafidia frew = oot ol 593 1 $9% 39 T W @ U S BT %
FERETT 9 fherm €
qF (R) : 19 g9 AT &g 1 I@d € df S AT el a6 SITEReT Y It & ST ua
AT o ferw stfvgRor ue f5oalt S E
HE
(1) (A) 3R (R) IHT Tl € 3R (R), (A) Fl Tl A=A & |
(2) (A) &R (R) S Hel €, W= (R), (A) B Hel =0 & & |
(3) (A) Tl &, AT (R) Tord & |
(4) (A) T g, oife (R) TR ¢ |

43. STIY (B1EeE) WIHTCH [t | Toist Tt WOTett 3TfehaT 5T Heteiiad Wehrd URa &l & :

a. @A b. @@l gE el A

c. UM d. 3 o el S TR
&<

(1) waec 2) c 3R A

(3) ab3Rc (4) a,c3Rd
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44, Match List — I with List — I and select the correct answer by choosing from the codes
given below :
List — | List — Il
(Type of Conditioning) (Explanation)
a. Delayed conditioning i.  The onset of UCS precedes the onset of the CS and
the UCS goes off before CS comes on

b. Trace conditioning ii.  The CS and UCS come on and go off at the same time
c. Simultaneous iii. The onset of CS precedes the onset of the UCS ‘and
conditioning the CS goes off before the onset of UCS &

d. Backward conditioning iv. The onset of the CS precedes the onset of.the UES
and the CS remains on for the initial part of ucs’

Codes:
a b C d
(1) 1 il v il

2) iv i i i
3) iv i i il
4 iv i i i
45. Which of the following statement/s is/are true, when the Eysenck Personality
Questionnaire (EPQ or EPQ-R) and Costa and McCrae’s NEO-PI-3 are compared ?
a.  EPQ-R Psychoticism (P) scale is uncorrelated with Five-Factor Agreeableness (A)
and Consentiousness (C) Scale.

b. P scale is positively correlated with A and C scales.
c. P scale is negatively correlated with A and C scales.
d.  EPQ-R has Lie scale, NEO-PI-3 has no lie scale.

e.  Both EPQ-R and NEO-PI-3 have lie scale.

Codes :

(1) aanddonly (2) bandeonly
(3) canddonly (4) aandeonly

Instructions (Questions 46 to 50) :
Read the following paragraph and answer the five questions which follow :

An environmental psychologist hypothesized that the noise would adversely affect
the performance on mental tasks. One hundred and fifty subjects, 75 boys and 75 girls,
studying in the twelth standard, in the age range of 17 to 19 years and in the IQ range of
85 to 115, constituted the initial pool of subjects. Three groups of equal size were formed
by random assignment. Group I performed under high noise condition (75 decibels),
Group II performed under moderate noise condition (60 decibels), and Group III
performed under silent condition. Each subject was instructed to solve 45 simple
numerical problems in the allotted time of 90 minutes. The mean number of correctly
solved problems were twenty-four, twenty and fifteen respectively. The intergroup mean
differences were statistically significant.

46. The variable ‘intelligence’, in the above study, can be labelled as

a.  Behavioural variable b.  Organismic variable
c.  Continuous variable d.  Controlled variable
Codes :
(1) aanddonly (2) bandconly
(3) a,canddonly (4) b,candd only
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44, T — 1 3R G — 1 B GAfeTd HTT 37 A 53 0 Fei § 9 el ST 0 :
| =it - I

(T

a. focifad erqeeA i, AT, F YEAT UG, H T I TgA Bl § AR
U, & o § Tgel ZUH. FH & ST e |

b. e ey ii. WU IR A TE TF & T 3 § 3R GO Bl ¢ |

c. U SEET i, TLTE. H IJHNT JUTH, B IERT ¥ Tged Bl & I
FATE. & T ¥ UEel T.UH, T & SAA | f

d.  UvEEr eEEEE v ﬁwaﬁw&mq@rwaﬁw&m@@ﬁ?ﬁ%aﬁ? y
Uuq.; 9109, & TR AT q% o &l § | {

e

(1) 1 i iv il
2) iv i di i
3) v i i i
4 iv i i i

A5, 9 3TESish THHee! FOTAR (SULE, 3Tal T UaR-3TR) T ISl Hehl o TH.2.37.-W.3TE-3
T i S, o F=fefad 5 & % /3 W& et 2
a. SULFL-3 (EPQ-R) WEHICHISH (P) Thet, HIEd haed THITEEYT (A) T HAArZema-d
(C) TheA & Y STHEHs5 &I § |
P @heT; A 3T C @hed o 91 RIS €0 & Hedag a1 ¢ |
P @heT; A 3 C oA o 9 THRIHS €9 F Tedag a1 ¢ |
EPQ-R % U AATE Whel 81T €, TA.2.37.-0. 37ME-3 (NEO-PI-3) % UM o1 Wbl &l Bl € |
EPQ-R @1 NEO-PI-3 SHI & 19 1§ Thet 81T |

©ao o

YA
(1) acta3d (2) HaAb e
(3) A ¢ AR d (4) FaTa e

9 WA 46T 50% fere fdwr : Ffefad o= i ufer 3R 39 e T 70 e oot o SR i

TS JATERUT HAETHS F URHeTT i fF O & IHGs B % R T 9gd ufdser g
TS | U G g fawE, 75 Teh 3R 75 SRt St o 128 el S & 3 17 W 19 Mg o F &
TAT 85 T 115 Wt Flegoredioh 5T H &; Sl IMMHeT I gT 9T T TR Yol =11 T | Agressh it
% ERT A 9 g S T & | 9 1 7 9ga 31 R arett feafd (75 2faeen) & w e fea, a1
F 3frad I et fefd (60 Sfaser) | & fhar SR 99 111 = o7 fopdt 91k aredt feafd o sl oo |
Tk =l bt 90 e o STeifed T9T | 45 AT GEACHS THENST 1 THEM I i Hel T4 |
TE TETEET ! e T HA: 24, 20 3T 15 of | 3TT8He I 3 ieThd ¥ 9 Fgd Sh § |

46. IWITT T H Fhgoteddl 90 P (=AfcAEd § & f6g T ° 9H1 ST Febell § 2

a. EERIHS® T b. SfgFE=

c. Tad = d. TEta=
(1) wacta 3R d (2) HEAAb AR ¢
(3) wacta,c 3R d (4) HaAb,c R d
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47. Which one of the following conclusion can be drawn on the basis of the above study ?
(1) The researcher’s hypothesis has been accepted.
(2) The researcher’s hypothesis has been rejected.
(3) The researcher’s hypothesis has been partially accepted.
(4) Inadequate data to evaluate researcher’s hypothesis.

48. Read each of the following two statements — Assertion (A) and Reason (R) and indicate

your answer using codes given below :

Assertion (A) : In the above study, the subjects have been randomly assigned to the
three groups.

Reason(R) : Random assignment of the subjects enables the experimenter to
manipulate the independent variable effectively.

Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

49. Match List — I with List — II in the context of the above study, select the correct answer by
choosing from the codes given below :

List — | List —1if’
(Types of Variable) (Variables)= £
a. Independent variable 1. %ﬂbject’s education
b. Dependent variable 4i. A Subject’s genderI
c. Controlled variable \ jii. = Noise level '
d. Discrete variable " iv. Number of numerical problems
correctly solved by subject
Codes:

a b c d
(1) iii v i i
(2) iv i i il
3) iv i i i
4) i iv il i

50. In the above study, the researcher’s hypothesis would be labelled as

a. directional b.  non-directional
c.  Causal d.  correlational
Codes :

(1) aonly (2) aandconly
(3) bandconly (4) banddonly
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A7. SIS TATA F YR W H=ATARGd 9 DI G T ehret ST gehdr & 2
(1)  STershl ol TNeheTHT iR Y &l TE T |
(2) VTRl ol TNEheTAT GINST &l TE ¢ |
(3) SNl i UReheaT Sl ¥ T TR H forn T g |
(4) ST Bl GNEHEIAT T TodishT HH b [T 3iiehs 3T ¢ |

48. Frfaiad & AT — TR (A) SR a% (R) H 9T i e KT T e w1 ST #a g
YT 3T ST
AU (A) : SRS 378 | {97 Aghess &9 F o 95el & 99 fu € |
% (R) : [auai & Agiess Sear ¥ WieToT S STell T = Sl TIIEsell &7 & 8- e |
T BT € |
T
(1) (A) 3R (R) IH T € 3R (R), (A) Fl Tl A=A & |
(2)  (A) 3R (R) IHT Tl €, W (R), (A) I Fel AT 6 ¥ |
(3) (A) T T, Al (R) T ¢ |
(4) (A) 7o &, @ (R) W& € |

49. T — 1 3R Tl — 11 1 Grferd BT 3iX A 52 e el 7 | et 3o’ g :

Tt — | =t — |l " 4
(T % ) @D Al
a. W@ag =™ i %ﬂﬁm !
b. R = ii. gia% -
c. Feifa = i, 3R
d. UTH jv. fowet gRT ST SEEnst
< " o fow g W e b de
%

a b c d
(1) i1 v i i
(2) iv i i il
3) iv i i i
4 i v i i

50. ST 7T | YYeh<l ol IReheT=T sl HMHET SITa

a. IEtIReC b. TRfevms
c. HRHE d. Tededr
&

(1) FocTa (2) FacTa A ¢
(3) HAADb AR ¢ (4) HaADb 3T d
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